Informational Report for the July 19, 2011, Board of Trustees Meeting

Classified Staff Separations

| Last Name | First Name | e MI | Site | Position Title | Position Code | Division | Date of Hire | Effective Date |
|----------------|------------|------|--------|---|------------------|-------------------------|--------------|-------------------|
| | | | | Released During Probat | ion | | | |
| Chabot College | | | | | | | | |
| Monsell | Cathleen | J. | Chabot | Fiscal and Administrative Services Technician | 2CAC15 | Administrative Services | 9/28/2010 | 6/30/2011 |

Informational Report for the July 19, 2011, Board of Trustees Meeting

Faculty Separations

| Last Name | First Nam | e Mi | Site | Position Title | Position Code | Division | Date of Hire | Effective Date |
|---------------|-----------|------|-------------|--------------------------------|------------------|------------|--------------|-------------------|
| | | | | Resignation | on . | | | |
| Las Positas C | ollege | | | | | | | |
| Alvarado | Andrea | C. | Las Positas | Counselor/Articulation Officer | 3FMA01 | Counseling | 8/15/2005 | 6/15/2011 |

Informational Report for the July 19, 2011, Board of Trustees Meeting

Administrative Separations

| Last Name | First Nan | ne Mi | Site | Position Title | Position Code | Division | Date of Hire | Effective Date |
|---|-----------|-------|--------|----------------|------------------|-----------|--------------|----------------|
| disease restandir i i i i i i i i i i i i i i i i i i | | | | | etirement | | | 1500 |
| | | | | (wit | hout benefits) | | | |
| Chabot College | | | | | | | | |
| Barberena | Celia | nmi | Chabot | President | 2EPR01 | President | 1/14/2008 | 12/31/2011 |

Informational Report for the July 19, 2011, Board of Trustees Meeting

Short-Term and Substitute Appointments

| | | | | New | | | | 5 - 50 Vet 1 | | | | |
|--------------|-----------------|------|-------------|-------------|--|-------|------|--------------|---|--|---------------------|--------------------|
| Last Name | First Name | MI | Site | Emp to | Position Title | Range | Step | Salary | Division | CONTRACTOR AND THE CONTRACTOR CON | Assign Beg. Date | Assign End Date |
| Chabot Colle | ge - Substitute | Em | plovees | | | | | | | | | |
| Finney | Jonathan | C. | Chabot | No | Library Technician III | 37 | 1 | \$23.36 | Language Arts | 30/week | 6/30/2011 | 9/16/2011 |
| Martinez | Tami | A. | Chabot | No | Fiscal and Administrative Services Technician | 31 | 1 | | Administrative Services | 40/week | | 9/9/2011 |
| Muhammad | Rizwaan | S. | Chabot | No | Admission and Records Assistant I | 27 | 1 | \$18.24 | Admission and Records | 24/week | 8/15/2011 | 9/16/2011 |
| Ortiz | Carmen | M. | Chabot | No | Early Childhood Specialist | 34 | 5 | \$26.47 | Early Childhood Development Center | 720 max | 7/1/2011 | 12/22/2011 |
| Wright | Gabrielle | N. | Chabot | No | Admission and Records Assistant I | 27 | 1 | \$18.24 | Admission and Records | 24/week | 8/15/2011 | 9/16/2011 |
| Chabot Colle | ge - Short-tern | n En | nployees (N | lon-Contine | uous Service) | | | | | | | , |
| Baria | Lisa | nmi | Chabot | Yes | Instructional Assistant II | 34 | 1 | \$21.69 | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Delaplane | Amanda | M. | Chabot | Yes | Instructional Assistant II | 34 | 1 | \$21.69 | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Ferdinand | Jamie | L. | Chabot | No | Instructional Assistant II | 34 | 1 | \$21.69 | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Fernandez | Gregory | J. | Chabot | No | Instructional Assistant II | 34 | 1 | \$21.69 | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Gardner | David | R. | Chabot | No | Instructional Assistant II | 34 | 1 | \$21.69 | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Lewis | Mark | A. | Chabot | No | Instructional Assistant II | 34 | 1 | \$21.69 | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Lynch | Paul | A. | Chabot | Yes | Stage Technician | 38 | 1 | \$23.92 | Performing Arts Center | 18/week | 7/1/2011 | 12/31/2011 |
| McInnis | John | N. | Chabot | No | Instructional Assistant II | 34 | 1 | \$21.69 | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Preston | Michael | G. | Chabot | No | Instructional Assistant II | 34 | 1 | \$21.69 | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |

Informational Report for the July 19, 2011, Board of Trustees Meeting

Short-Term and Substitute Appointments

| | | a por d | 0.0000000 | | | | | | | 0.000 | 1500 | |
|------------------|---------------|---------|-------------|---------------------------|--------------------------------------|-------|------|---------|---|---|--|--------------------|
| Last Name | First Name | MI | Site | New Emp to District | Position Title | Range | Step | Salary | Division | E CONTROL PROFILE AND | PROPERTY OF THE PROPERTY OF TH | Assign End Date |
| D: | h di ala alla | | 0116 | | | | | 1 | Health, Physical | | | |
| Rippy | Michelle | R. | Chabot | No | Instructional Assistant II | 34 | 1 | | Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Robinson | Kyle | J. | Chabot | No | Instructional Assistant I | 25 | 1 | \$17.39 | Health, Physical Education and Athletics | 16 max | 3/1/2011 | 5/31/2011 |
| Rosales | Susana | nmi | Chabot | No | Instructional Assistant II | 34 | 1 | | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Rosales Padilla | Noe | J. | Chabot | No | Instructional Assistant II | 34 | 1 | | Health, Physical Education and Athletics | 41 max | 8/17/2011 | 12/31/2011 |
| Tappan | Paul | J. | Chabot | No | Instructional Assistant II | 34 | 1 | 1 | Health, Physical Education and Athletics | 40 max | 8/17/2011 | 12/31/2011 |
| Las Positas Co | llege - Subs | titute | Employees | | | | | | | | | |
| Stuart | Barbara | M. | Las Positas | No | Counselor Assistant II | 34 | 5 | 1 | Disabled Student Programs and Services | 40/week | 8/1/2011 | 9/15/2011 |
| Williams | Adrian | M. | Las Positas | No | College Clerk I | 22 | 1 | | Administrative Services | 25/week | | 7/15/2011 |
| Las Positas Co | llege - Short | t-terr | n Employees | (Non-Co | ntinuous Service) | | | | | | | |
| Maxoutopoulis | Theresia | G. | Las Positas | No | Instructional Assistant I | 25 | 1 | ŧ I | Disabled Student Programs and Services | 18/week | 8/1/2011 | 12/31/2011 |
| Santos | Anthony | M. | Las Positas | No | Admission and Records Assistant I | 27 | 1 | \$18.24 | Admission and Records | 20/week | 7/5/2011 | 8/15/2011 |
| District Service | es - Substitu | te Er | nployees | | | | | | | | | |
| Sahagun | Alberto | nmi | District | Yes | Grounds Mechanic | 47 | 1 | 1 1 | Maintenance and Operations | 40/week | 7/6/2011 | 9/4/2011 |

Informational Report for the July 19, 2011, Board of Trustees Meeting

Part-Time (Adjunct) Faculty Appointments

| | | 30,000,000 | | New | | | |
|---------------------|------------|------------|-------------|----------|-----------|-----------------------------|---------------------------------------|
| | | 5 5 6 | | Emp to | Adjunct / | | |
| Last Name | First Name | MI | Site | District | Regular | Discipline | Term |
| Chabot College | | | | | | | |
| Batchelor | Egle | T. | Chabot | No | Regular | Mathematics | Summer 2011 |
| Braganza | Agnello | F. | Chabot | No | Regular | Biology | Summer 2011 |
| Castro | Shauna | L. | Chabot | No | Adjunct | Counseling | 2011-12 Academic Year |
| Crew | James | D. | Chabot | No | Regular | Mathematics | Summer 2011 |
| Davis | Matthew | A. | Chabot | No | Regular | Mathematics | Summer 2011 |
| Dockter | Laurie | J. | Chabot | No | Regular | Chemistry | Summer 2011 |
| Drouin | Jeffrey | nmi | Chabot | No | Regular | Physical Education | Summer 2011 |
| Genera | Sandra | F. | Chabot | No | Regular | Counseling | Summer 2011 and 2011-12 Academic Year |
| Hanhan | Doris | F. | Chabot | No | Regular | Mathematics | Summer 2011 |
| Hildreth | Scott | S. | Chabot | No | Regular | Astronomy/Physics | Summer 2011 |
| Howell | Debra | 1. | Chabot | No | Regular | Biology | Summer 2011 |
| Ionel | Eugene | nmi | Chabot | No | Adjunct | Mathematics | Summer 2011 |
| Marawala | Zarir | G. | Chabot | No | Regular | Biology | Summer 2011 |
| Mayer | Bruce | E. | Chabot | No | Regular | Engineering | Summer 2011 |
| Ngo | Maurice | nmi | Chabot | No | Regular | Mathematics | Summer 2011 |
| Oliver | Adolph | A. | Chabot | No | Regular | Mathematics | Summer 2011 |
| Rube | Milton | l. | Chabot | No | Regular | Mathematics | Summer 2011 |
| Sawhney | Harjot | K. | Chabot | No | Regular | Chemistry | Summer 2011 |
| Wells | Andrew | V. | Chabot | No | Regular | Chemistry | Summer 2011 |
| Yest | Robert | L. | Chabot | No | Regular | Mathematics | Summer 2011 |
| Las Positas College | | | | | | | |
| Asregadoo | Edward | D. | Las Positas | No | Adjunct | Mass Communication | 2011-12 Academic Year |
| Del Aguila | Ana | M. | Las Positas | No | Adjunct | Early Childhood Development | 2011-12 Academic Year |
| Discua | Gabriela | 1. | Las Positas | No | Adjunct | Counseling | Summer 2011 and 2011-12 Academic Year |
| Rodriguez | Gabriela | nmi | Las Positas | No | Adjunct | English | 2011-12 Academic Year |
| Hannon | Willard | J. | Las Positas | No | Adjunct | Mathematics | 2011-12 Academic Year |
| Hogue | Terrance | K. | Las Positas | No | Adjunct | Emergency Medical Services | 2011-12 Academic Year |
| McCoy | Jane | C. | Las Positas | No | Regular | History | Summer 2011 |

Informational Report for the July 19, 2011, Board of Trustees Meeting

Part-Time (Adjunct) Faculty Appointments

| Last Name | First Name | MI | Site | New Emp to District | Adjunct / Regular | Discipline | Term |
|-----------|------------|----|-------------|---------------------------|----------------------|---------------------------------------|-----------------------|
| Moorhead | Jane | A. | Las Positas | No | Adjunct | Emergency Medical Services | 2011-12 Academic Year |
| Voelker | Kathryn | М. | Las Positas | No | Adjunct | Emergency Medical Services | 2011-12 Academic Year |
| Walsh | John | T. | Las Positas | No | Adjunct | Fire Service Technology | 2011-12 Academic Year |
| | | | | | | | |
| | | | | | | | |
| | | | | _ | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | | | |
| | | | | | <u> </u> | · · · · · · · · · · · · · · · · · · · | |
| | | | | | | | |
| | | | | | | | |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| | | | | New Emp to | | | Pay | | | | Assign | Assign |
|---------------|----------------|-------|--------|---------------|---|------------------------|---------|--------------|---------|---|-----------|-----------|
| Last Name | First Name | MI | Site | District | Duties | Department | Туре | Pay Rate | Maximum | Max | Beg. Date | End Date |
| Chabot Colleg | je Community I | Educa | tion | | | | | | | | | |
| | | | | | To teach Piano for | | | | | ***** | | |
| | | | | | Kids (6-9 years) to | | | | | | | |
| | | ļ | | | Community Education | Community | | | | | | |
| Bartlett | Luveda | M. | Chabot | No | students | Education | Hourly | \$25.00 | 15 | \$375.00 | 3/12/2011 | 6/30/2011 |
| | | | | | To teach Sign | | | | | | | |
| | | | | | Language to Kids on | Community | | | | | | |
| Bishop | Sasha | G.D. | Chabot | Yes | Campus students | Education | Hourly | \$25.00 | 14 | \$350.00 | 6/20/2011 | 6/30/2011 |
| Bonilla | Monica | A. | Chabot | Yes | To serve as Counselor to Kids on Campus and to assist instructor in classroom | Community Education | Hourly | \$10.00 | 65 | \$650.00 | 6/20/2011 | 7/1/2011 |
| | | | | | To serve as Counselor | | 1 | + | | + | <u> </u> | 17112017 |
| | | | | | to Kids on Campus | Community | | | | | | |
| Fernandez | Jon | I. | Chabot | No | students | Education | Hourly | \$10.00 | 75 | \$750.00 | 6/20/2011 | 6/30/2011 |
| Hawtrey | Nancy | S. | Chabot | No | To teach Water Aerobics to Quest students | Community Education | Hourly | \$45.00 | 20 | \$900.00 | | |
| Kolm | Brian | M. | Chabot | No | To teach Cartooning and Star Wars Art to Kids on Campus students | Community Education | Hourly | \$30.00 | 17.5 | \$525,00 | 6/20/2011 | 7/1/2011 |
| TQIIII | DIAN | 171. | Chabot | 140 | To teach Television | Luucation | riourly | \$30.00 | 17.5 | \$525.00 | 0/20/2011 | 11 112011 |
| Lothian | Thomas | E. | Chabot | No | Production to Kids on Campus students | Community Education | Hourly | \$35.00 | 10 | \$350.00 | 6/20/2011 | 6/24/2011 |
| Snider | Liana | J. | Chabot | Yes | To teach Art and Spanish to Kids on Campus students | Community Education | Hourly | \$30.00 | 17.5 | \$525.00 | 6/20/2011 | 6/24/2011 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| Last Name | First Name | MI | Site | New Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | Max | Assign Beg. Date | Assign End Date |
|----------------|------------|------|----------|---------------------------|--|-------------------------------------|-------------|------------|---------|------------|---------------------|--------------------|
| Woergoetter | Rosalie | A. | Chabot | No | To teach Line Dancing to Quest students | Community Education | Hourly | \$45.00 | 14 | \$630.00 | | 9/30/2011 |
| vvoergoetter | Tosaile | /A. | Chabot | INO | to Quest students | Ludcation | Hourty | φ45.00 | 14 | \$650.00 | 77172011 | 9/30/2011 |
| Chabot College | • | | <u> </u> | | | | | | | | | |
| Adams-Bailey | Tracey | C. | Chabot | No | To serve as Sports Instructor for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,800.00 | 20/week | \$1,800.00 | 6/20/2011 | 7/21/2011 |
| Andrade | Deverie | J. | Chabot | No | To serve as audience services manager for the Performing Arts Center | School of the Arts | Hourly | \$23.00 | 400 | \$9,200.00 | | 6/30/2012 |
| Autrey | Mari | nmi | Chabot | No | To serve as audience services specialist for the Performing Arts Center | School of the Arts | Hourly | \$18.00 | 225 | \$4,050.00 | | 6/30/2012 |
| Bell | Charnay | T. | Chabot | No | To serve as project aide for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,200.00 | 20/week | \$1,200.00 | 6/20/2011 | 7/21/2011 |
| Chou | Betty | S.P. | Chabot | No | To assist in the television station operations | School of the Arts | Hourly | \$16.00 | | • | 4/25/2011 | 6/30/2011 |
| Christenson | Joel | G. | Chabot | No | To provide lifeguard services for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,200.00 | 20/week | \$1,200.00 | 6/20/2011 | 7/21/2011 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| Last Name | First Name | MI | Site | New Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | Max | Assign Beg. Date | Assign End Date |
|----------------|------------|-----|--------|---------------------------|---|---------------------|-------------|------------|---------|-------------|---------------------|--------------------|
| | | | | | · · · · · · · · · · · · · · · · · · · | | | | | | | |
| | | | | | | Health, Physical | | | | | | |
| | | | | | To administer hospital | Education | Per | | | | | |
| Cockerham | Rudolph | C. | Chabot | No | exams to students | and Athletics | Student | \$190.00 | n/a | n/a | 7/1/2011 | 6/30/2012 |
| | | | | | To serve as audience | | | | | | | |
| | | | | | services specialist for | | | | | | | |
| | | | | | the Performing Arts | School of the | | | | | | |
| Cooney | John | T. | Chabot | No | Center | Arts | Hourly | \$20.00 | 200 | \$4,000.00 | 7/1/2011 | 6/30/2012 |
| | | | | | To serve as project | Special | 1.5 | | | | | |
| | | | | | aide for the Summer | Programs | | | ĺ | | | |
| Davis | Nailah | A. | Chabot | Yes | Youth Sports Program | and Services | Flat | \$1,200.00 | 20/week | \$1,200.00 | 6/20/2011 | 7/21/2011 |
| | | | | | | | | | | | | |
| | | | | | To provide video | | | | | | | |
| Deleter | Alexen | : | Chabot | Na | production and editing, | | Linus | 045.00 | 054 | 400 775 00 | 7/44/0044 | 0/00/0040 |
| Dolotov | Alexey | nmi | Chabot | No | and student interviews To serve as audience | Arts | Hourly | \$15.00 | 35/week | \$26,775.00 | 7/11/2011 | 6/30/2012 |
| | | | | | services specialist for | | | | | | | |
| | | | | | the Performing Arts | School of the | | | 2 | | | |
| Duncan-Lindsey | Celestine | nmi | Chabot | No | Center | Arts | Hourly | \$17.00 | 250 | \$4,250.00 | 7/1/2011 | 6/30/2012 |
| | | | | | | | | | | | | |
| | | | | | | Health, | | | | | | |
| | | | | | | Physical | _ | | | | | |
| Carion | lamaifan | B | Chahat | NI- | To administer hospital | Education | Per | 6400.00 | | | 71410011 | 0/00/00 10 |
| Farian | Jennifer | R. | Chabot | No | exams to students | and Athletics | Student | \$190.00 | n/a | n/a | 7/1/2011 | 6/30/2012 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| Last Name | First Name | MI | Site | New Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | Max | Assign Beg. Date | Assign End Date |
|-----------|------------|------------|--|---------------------------|---|-------------------------------------|----------------|------------|---------|---------------------------------------|---------------------|--------------------|
| | | | The state of the s | | | Health, Physical | | | | | | |
| Fortes | Kristina | nmi | Chabot | No | To administer hospital exams to students | Education and Athletics | Per Student | \$190.00 | n/a | n/a | 7/1/2011 | 6/30/2012 |
| Gerst | Nicolas | Т. | Chabot | No | To provide lifeguard services for the Summer Youth Sports Program | Special Programs and Services | | \$1,200.00 | 20/week | | 6/20/2011 | 7/21/2011 |
| Gibson | Samantha | L. | Chabot | No | To serve as project aide for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,200.00 | 20/week | \$1,200.00 | 6/20/2011 | 7/21/2011 |
| Griffin | Kayla | R. | Chabot | Yes | To serve as project aide for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,200.00 | 20/week | \$1,200.00 | 6/20/2011 | 7/21/2011 |
| На | Theodore | P. | Chabot | No | To serve as project aide for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,200.00 | 20/week | \$1,200.00 | 6/20/2011 | 7/21/2011 |
| Harvey | Eric | T , | Chabot | No | To provide lifeguard services for the Summer Youth Sports Program | Special Programs and Services | Flat | \$600.00 | 10/week | \$600.00 | 6/20/2011 | 7/21/2011 |
| | | | | | To serve as Sports Instructor for the Summer Youth Sports | Special Programs | | | | · · · · · · · · · · · · · · · · · · · | | |
| Jackson | James | L. | Chabot | No | Program | and Services | Flat | \$1,800.00 | 20/week | \$1,800.00 | 6/20/2011 | 7/21/2011 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| Last Name | First Name | мі | Site | New Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | Max | Assign Beg. Date | Assign End Date |
|-----------|------------|-----|--------|---------------------------|--|---|--|------------|---------|------------|---------------------|--------------------|
| | | | | | | | 1.7,1 | | | 121424 | | |
| | | | | | | Health, Physical | | | | | | |
| | | | | | To administer hospital | Education | Per | | | | | |
| Kitt | Jeanette | A. | Chabot | No | exams to students | and Athletics | Student | \$190.00 | n/a | n/a | 7/1/2011 | 6/30/2012 |
| Kollias | Patricia | D. | Chabot | No | To serve as audience services specialist for the Performing Arts Center | School of the Arts | Hourly | \$16.00 | 400 | \$6,400.00 | 7/1/2011 | 6/30/2012 |
| Kubicki | Jennifer | В. | Chabot | No | To serve as Sports Instructor for the Summer Youth Sports Program | Special Programs and Services | and the second s | \$1,800.00 | 20/week | \$1,800.00 | | |
| Lewis | Byron | K. | Chabot | No | To administer hospital exams to students | Health, Physical Education and Athletics | Per Student | \$190.00 | n/a | n/a | 7/1/2011 | 6/30/2012 |
| | | | | | To provide web design, training and support for the Acceleration in | Language | | | | | 3 | |
| Lothian | Thomas | JE. | Chabot | No | Context grant | Arts | Hourly | \$30.00 | 100 | \$300.00 | 7/1/2011 | 6/30/2012 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| | | | | New Emp to | | | Pay | | | | Assign | Assign |
|-----------|------------|------|--------|---------------|--|-------------------------------------|--------|------------|---------|------------|------------|-----------|
| Last Name | First Name | MI | Site | District | Duties | Department | Туре | Pay Rate | Maximum | Max | Beg. Date | End Date |
| | | | | | To develop diversity and team building workshops for the Early Childhood Development faculty and Children's Center | Early Childhood | | | | | 3 . | |
| Neal | Veronica | A. | Chabot | No | Staff | Development | Hourly | \$85.00 | 30 | \$2,550.00 | 1/3/2011 | 4/30/2011 |
| Ong | Kurtis | J. | Chabot | Yes | To serve as project aide for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,200.00 | 20/week | \$1,200.00 | 6/20/2011 | 7/21/2011 |
| Pargett | Gabrielle | E.L. | Chabot | Yes | To provide lifeguard services for the Summer Youth Sports Program | Special Programs and Services | Flat | \$600.00 | 10/week | \$600.00 | 6/20/2011 | 7/21/2011 |
| Pastore | Mary | E. | Chabot | No | To provide professional support to Fire Technology students and determine actions to improve student performance | | | \$75.00 | 48 | \$3,600.00 | | 4/2/2011 |
| | iridiy | | Jugot | 110 | To serve as audience services specialist for the Performing Arts | School of the | | , V, C.OO | 70 | ψο,σσσ.σσ | .5.5.2510 | 7/2/2011 |
| Pratt | Roberta | F. | Chabot | No | Center | Arts | Hourly | \$16.00 | 30 | \$480.00 | 7/1/2011 | 6/30/2012 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| | | | | New Emp to | | | Boy | | | **,1** | Assiss | Annian |
|-----------|------------|----|--------|-----------------|--|-------------------------------------|-------------|------------|---------|------------|---------------------|--------------------|
| Last Name | First Name | МІ | Site | Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | Max | Assign Beg. Date | Assign End Date |
| Ramos | Charmaine | M. | Chabot | No | To serve as Sports Instructor for the Summer Youth Sports Program | Special Programs and Services | | \$1,800.00 | 20/week | \$1,800.00 | | 7/21/2011 |
| Rosen | Kimberly | A. | Chabot | No | To provide mental health services to students at the Chabot Health Center | Student Services | Flat | \$500.00 | 12/week | \$500.00 | 7/1/2011 | 6/30/2012 |
| Smith | Jovan | D. | Chabot | Yes | To serve as project aide for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,200.00 | 20/week | \$1,200.00 | 6/20/2011 | 7/21/2011 |
| Souza | Mike | A. | Chabot | No | To serve as Sports Instructor for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,800.00 | 20/week | \$1,800.00 | 6/20/2011 | 7/21/2011 |
| Wagoner | Dylan | J. | Chabot | No | To serve as project aide for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,200.00 | 20/week | \$1,200.00 | 6/20/2011 | 7/21/2011 |
| Westcott | Julia | Ę. | Chabot | No | To serve as Educational Instructor for the Summer Youth Sports Program | Special Programs and Services | Flat | \$1,800.00 | 20/week | \$1,800.00 | 6/20/2011 | 7/21/2011 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| Last Name | First Name | MI | Site | New Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | Max | Assign Beg. Date | Assign End Date |
|---------------|--------------|--------|-------------|---------------------------|--|------------------------|----------------|------------|---------|------------|---------------------|--------------------|
| Wu Craig | Yvonne | nmi | Chabot | No | To coordinate program review and budget documentation | Academic Services | Flat | \$5,000.00 | n/a | \$5,000.00 | 2/1/2011 | 6/30/2011 |
| Las Positas C | ollege Commu | nity E | ducation | | | | | | | | | |
| Costello | Anthony | J. | Las Positas | No | To teach wellness and activity classes to Community Education students | Community Education | Hourly | \$30.00 | 100 | \$300.00 | 6/1/2011 | 6/30/2012 |
| Kutil | Craig | A. | Las Positas | No | To teach wellness and activity classes (H216) to Community Education students | Community Education | Per Student | \$80.00 | n/a | n/a | 7/1/2011 | 6/30/2012 |
| Kutil | Craig | A. | Las Positas | No | To teach wellness and activity classes (SE102) to Community Education students | Community Education | Per Student | \$15.00 | n/a | n/a | 7/1/2011 | 6/30/2012 |
| Farris | Ward | E. | Las Positas | No | To teach Basketball to Community Education students | Community Education | Hourly | \$30.00 | | \$300.00 | | , |
| Las Positas C | College | | | | | | , | | | | | |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| Last Name | First Name | MI | Site | New Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | Max | Assign Beg. Date | Assign End Date |
|-----------|------------|----|-------------|---------------------------|---|--|-------------|-------------|---------|-------------|---------------------|--------------------|
| | | | | | To manage the Tri- Valley One Stop Center including fiscal management, staff supervision, Alameda County Workforce Investment Act coordination, and case | Tri-Vallev | | | | | | |
| Alves | John | D. | Las Positas | No | management | One Stop | Monthly | \$5,300.00 | 40/week | \$63,600.00 | 7/1/2011 | 6/30/2012 |
| Coyne | Mary | Т. | Las Positas | No | To provide mental wellness services in support of the Alameda County Workforce Investment Act | Tri-Valley One Stop | Monthly | \$ 2,083.00 | 9/week | \$4,166.00 | 7/1/2011 | 8/31/2012 |
| Donovan | Patricia | A. | Las Positas | No | To assist in the operations in support of the Alameda County Workforce Investment Act | • | Monthly | \$3,400.00 | 24/week | | | 6/30/2012 |
| Gabel | Audrey | Н. | Las Positas | Yes | To assist with the development and coordination of clinical placement throughout the Bay Area | Business, Computers, and Applied Technology | Hourly | \$75.00 | 250 | \$18,750.00 | 6/13/2011 | 6/30/2012 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| Last Name | First Name | MI | Site | New Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | May | Assign Beg. Date | |
|-----------|-------------|------|-------------|---------------------------|---|------------|-------------|------------|-----------|-------------|---------------------|-----------|
| Last Name | i not runto | 3451 | l | District | Duties | Department | Type | r ay ivate | Maximum | IVICA | Deg. Date | Lift Date |
| Gecox | Heike | nmi | Las Positas | No | To provide assistance with the Alameda County Workforce Investment Act case management including career counseling, eligibility documentation, follow-up, and workshops | | Monthly | \$4,500.00 | 32.5/week | \$54,000.00 | 7/1/2011 | 6/30/2012 |
| Gioia | Lisa | G. | Las Positas | No | To provide supervision for marriage and family therapist internship program | | Hourly | \$75.00 | 5/week | \$19,500.00 | 7/1/2011 | 6/30/2012 |
| | | | | | To provide assistance with the Alameda County Workforce Investment Act case management including career counseling, eligibility documentation, follow- | | | | | | | |
| Hirashiki | Abby | K. | Las Positas | No | up, and workshops | One Stop | Monthly | \$4,992.00 | 32.5/week | \$9,984.00 | 7/1/2011 | 8/31/2011 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| Last Name | First Name | MI | Site | New Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | Max | Assign Beg. Date | Assign End Date |
|-----------|------------|----|-------------|---------------------------|--|-----------------------------------|-------------|----------|---------|-------------|---------------------|--------------------|
| Hirashiki | Abby | K. | Las Positas | No | To coordinate mentor training, parent coordination, plan and implement events, monitor budget, and serve as liaison for the College Bound Scholars Program | Student Services | Hourly | \$37.50 | 15/week | | | 6/30/2012 |
| Konrad | Martha | K. | Las Positas | No | To perform specialized projects and services for CurricUNET and other projects for the Office of Academic Services | Academic Services | Hourly | \$30.00 | 16 | \$480.00 | 7/1/2011 | 10/30/2011 |
| Koski | Sandra | C. | Las Positas | No | To provide sign language interpretation services | Student Services | Hourly | \$30.00 | 300 | \$9,000.00 | 7/1/2011 | 5/31/2012 |
| Loyola | Anne | L. | Las Positas | No | To provide coordination and training for the Foster and Kinship Care Education program | Early Childhood Development | Hourly | \$45.00 | 850 | \$38,250.00 | 7/1/2011 | 12/31/2011 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| | | | New Emp to | | | Pav | | | | Assian | Assign |
|------------|-------|---|---|--|---|---|---|---|---|---|--|
| First Name | MI | Site | | Duties | Department | 1 - 1 | Pay Rate | Maximum | Max | 1 | End Date |
| | | | | | | | - | | | | |
| | | | | Ta assida aiss | | | | | | | |
| | | | | - | | | | | | | |
| lanet | Δ | I as Positas | Vec | | | Houriv | \$65.00 | 200 | \$13,000,00 | 8/17/2011 | 5/31/2012 |
| Janet | Λ. | Las i Ositas | 163 | | and Services | riourly | \$05.00 | 200 | \$13,000.00 | 0/1//2011 | 3/3 1/2012 |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | İ |
| Noreen | M. | Las Positas | No | Act | | Monthly | \$2,400.00 | 30/week | \$28,800.00 | 7/1/2011 | 6/30/2012 |
| | | | | | , | | | | • | | |
| | | | | } | Disabled | | 1 | | | | |
| | | | | | Students, | | | | | | |
| | | | | · ' | | | | | | | |
| Susan | C. | Las Positas | No | assistance | and Services | Hourly | \$75.00 | 12/week | \$9,792.00 | 8/1/2011 | 6/30/2012 |
| | | | | To assist in the | | | | | | 1 | 1 |
| | | | | | | | | | | | |
| | | | | 1 | | | | | | | Ì |
| 1: | ١. | L D34 | . | | | | 00 000 00 | 00.51 | *** *** ** | 7/4/0044 | 0/00/00/40 |
| Linga | J. | Las Positas | NO | | One Stop | Monthly | \$3,333.00 | 32.5/week | \$39,996.00 | //1/2011 | 6/30/2012 |
| | | | | 1 | | | | | | 1 | |
| | | | | | V13-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0 | | | : | | | |
| | | | | | | | | | | 7,1 | |
| Gerald | С | Las Positas | No | | | Monthly | \$4,320,00 | 32 5/week | \$51.840.00 | 7/1/2011 | 6/30/2012 |
| | Janet | Janet A. Noreen M. Susan C. Linda J. | Janet A. Las Positas Noreen M. Las Positas Susan C. Las Positas Linda J. Las Positas | First Name MI Site Emp to District Janet A. Las Positas Yes Noreen M. Las Positas No Susan C. Las Positas No Linda J. Las Positas No | First Name MI Site District Duties To provide sign language interpretation services To assist in the operations in support of the Alameda County Workforce Investment Act Noreen M. Las Positas No To provide classroom assistance To assist in the operations in support of the Alameda County Workforce Investment Act To assist in the operations in support of the Alameda County Workforce Investment Act To assist in the operations in support of the Alameda County Workforce Investment | First Name MI Site Duties Department Janet | First Name MI Site Emp to District Duties Department Type | First Name MI Site Duties Department Type Pay Rate Disabled Students, Programs and Services Hourly Sefs.00 | First Name MI Site Emp to District Duties Department Type Pay Rate Maximum Janet A. Las Positas Yes Services Services Act To provide classroom Susan C. Las Positas No Act To assist in the operations in support of the Alameda County Workforce Investment Tri-Valley One Stop Monthly \$75.00 12/week | First Name MI Site Emp to District Duties Department Pay Type Pay Rate Maximum Max Janet A. Las Positas Yes Services To assist in the operations in support of the Alameda County Workforce Investment Act To provide classroom assistance Susan C. Las Positas No Susan To assist in the operations in support of the Alameda County Workforce Investment Act To assist in the operations in support of the Alameda County Workforce Investment Tri-Valley One Stop Monthly \$2,400.00 30/week \$28,800.00 Linda J. Las Positas No Act To assist in the operations in support of the Alameda County Workforce Investment Tri-Valley One Stop Monthly \$3,333.00 32.5/week \$39,996.00 | First Name MI Site Emp to District Duties Department Type Pay Rate Maximum Max Assign Beg. Date Janet A. Las Positas Yes Services Disabled Students, Programs and Services Hourly \$65.00 200 \$13,000.00 8/17/2011 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| **** | | | | New | | | | | | | | / |
|------------------|--|----|-------------|-----------------|---|-----------------------|-------------|------------|--|-------------|---------------------|--------------------|
| Last Name | First Name | МІ | Site | Emp to District | Duties | Department | Pay Type | Pay Rate | Maximum | May | Assign Beg. Date | Assign End Date |
| | | | | | To assist in the | | 1.36.5 | | | - III GA | Dog. Dute | Liid Date |
| | | | | | operations in support | | | } | | | | |
| | } (| | | | of the Alameda County Workforce Investment | Tri-Valley | | | 3 | | | |
| Valle | Rafael | A. | Las Positas | No | Act | One Stop | Monthly | \$4,320.00 | 32.5/week | \$51,840.00 | 7/1/2011 | 6/30/2012 |
| | | | | | To provide skills | | | , | Action of the second of the se | | | |
| | | | | | evaluation and assess | Emergency | | | 1000 | | | |
| 106 | | _ | | | emergency medical | Medical | | |) | | | |
| Wong | Sebastian | E. | Las Positas | No | services students | Services | Hourly | \$15.00 | 200 | \$3,000.00 | 7/1/2011 | 6/30/2012 |
| District Service | es | | | | | | | | | | | |
| | - Personal responsibility of the second seco | | | | To provide emotional | | | | | | | |
| | | | | | and practical support to parents new to the | | | | 5 0 1 | | | |
| | i C | | | | Solano County Child | Contract | | } |) | | | |
| Blackmon | Kareena | R. | District | No | Welfare system | Education | Hourly | \$10.00 | 1100 | \$11,000.00 | 7/1/2011 | 6/30/2012 |
| | | | | | To provide non-credit | | | <u> </u> | | , , | | |
| | | | | | computer training, | | | | ļ | | | |
| Donat | Teresa | G. | District | No | grant and consulting services | Contract Education | Hourly | \$85.00 | 60 | \$5,100.00 | 7/1/2011 | 6/30/2012 |
| | | | | 1 | To provide non-credit | <u> </u> | riouriy | Ψ00.00 | | ΨΟ, 100.00 | 11112011 | 0/30/2012 |
| | } | | | | soft skills training to | Contract | | | • | | | |
| Ianniello | Raphaella | A. | District | No | local area clients | Education | Hourly | \$100.00 | 60 | \$6,000.00 | 7/1/2011 | 6/30/2012 |
| | | | | | To provide web design, | | | | | | | |
| | | | | | training and support for | | | | | | | |
| | | _ | | | the Acceleration in | Contract | | | | | | |
| Lothian | Thomas | E. | District | No | Context grant | Education | Hourly | \$30.00 | 100 | \$300.00 | 7/1/2011 | 6/30/2012 |

Informational Report for the July 19, 2011 Board of Trustees Meeting

| Last Name | First Name | MI | Site | New Emp to District | Dution | | Pay | | | | Assign | Assign |
|------------|----------------|------------|----------|---------------------------|------------------------|------------|--------|---------------|---------|-----------------------|-----------|-----------|
| Lastivanie | I list Name | INI | Site | District | To provide video | Department | туре | Pay Rate | Maximum | Max | Beg. Date | End Date |
| | | | | | support, filming, and | | | | | | | |
| | | | | | cutting video for | | | | | | | |
| | | | | | projects supported by | | | | | | | |
| | | | | | the Acceleration in | Contract | | | | | | |
| Robertson | Cedric | E. | District | No | Context | Education | Hourly | \$10.25 | 35/week | \$4,663.75 | 7/1/2011 | 9/30/2011 |
| | | | | | To provide emotional | | | , , , , , , , | | + 1,000.70 | .,,,2011 | 0/00/2011 |
| | | Į. | | | and practical support | | | | | | ; | |
| | | | | | to parents new to the | | | | | | } | |
| | | | | | Solano County Child | Contract | | | | | | |
| Roush | Vanessa | C. | District | No | Welfare system | Education | Hourly | \$10.00 | 400 | \$4,000.00 | 7/1/2011 | 6/30/2012 |
| | TANK AMPLIANCE | | | | To provide language | Contract | | | | | | |
| Salamanca | Ilva | L. | District | No | training to clients | Education | Hourly | \$96.40 | 30 | \$2,892.00 | 6/18/2011 | 6/30/2011 |
| | | | | 1 | To provide language | Contract | | | | | | |
| Salamanca | liva | <u>L</u> . | District | No | training to clients | Education | Hourly | \$96.40 | 60 | \$5,784.00 | 7/1/2011 | 5/30/2012 |
| | | | | | To provide hard skills | | | | | | | |
| | | | | | (machine and welding | Contract | | | | | | |
| Turner | Greg | M.S. | District | No | training) to clients | Education | Hourly | \$78.51 | 200 | \$15,702.00 | 7/1/2011 | 6/30/2012 |